
MATHS

BOOKS - ACCURATE PUBLICATION

MATRICES

Example Questions Carrying 2 Marks

1. If matrix  and 

, then find matrix A.

Watch Video Solution

A = [aij]3 × 2 aij = (3i − 2j)2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qKWin8OpG97v


2. Construct  matrix  whose

elements are given by .

Watch Video Solution

2 × 2 A = [aij]

aij =
i

j

3. If  , find the values

of x and y.

Watch Video Solution

x[
2

3
] + y[

−1

1
] = [

10

5
]

https://dl.doubtnut.com/l/_qKWin8OpG97v
https://dl.doubtnut.com/l/_gLWbcpogOsOT
https://dl.doubtnut.com/l/_oihk0kFXVdbT


4. If , then find the

value of x and y.

Watch Video Solution

x[
3

4
] + y[

−1

1
] = [

10

11
]

5. If , then find the

value of x and y.

Watch Video Solution

x[
4

5
] + y[

−1

1
] = [

6

12
]

https://dl.doubtnut.com/l/_kEGOMy7c9XQG
https://dl.doubtnut.com/l/_Wdi0uMkuW7Jl


6. If A  show

that (A - 3I) (A - 4I) = 0

Watch Video Solution

= [
5 2

−1 2
] and I = [

1 0

0 1
]

7. If  and  show that

Watch Video Solution

A = [
6 2

−1 3
] I = [

1 0

0 1
]

(A − 4I)(A − 5I) = 0

https://dl.doubtnut.com/l/_5wgmjSrgoJLk
https://dl.doubtnut.com/l/_rxVTJp6f9bG3


8. If  and  show that

Watch Video Solution

A = [
7 2

−1 4
] I = [

1 0

0 1
]

(A − 5I)(A − 6I) = 0

9. If  , find 

Watch Video Solution

A = [
1 −2

−3 4
] −A2 + 5A

10. If  , find 

Watch Video Solution

A = [
1 −2

−3 4
] −A2 + 5A

https://dl.doubtnut.com/l/_cYP3oicavxWg
https://dl.doubtnut.com/l/_aGKgrsPFQOs6
https://dl.doubtnut.com/l/_qgb3XIRH57bI


11. If A  ,find 

Watch Video Solution

= [
−2 −3

−2 4
] −A2 + 6A

12. If  , show that 

Watch Video Solution

f(x) =
⎡
⎢
⎣

cos x −sinx 0

sinx cos x 0

0 0 1

⎤
⎥
⎦

f(x). f(y) = f(x + y)

https://dl.doubtnut.com/l/_qgb3XIRH57bI
https://dl.doubtnut.com/l/_zpWWAdv8N5Di
https://dl.doubtnut.com/l/_RXK6BGcwAg6S


13. If , then show

that .

Watch Video Solution

F (α) =
⎡
⎢
⎣

cosα −sinα 0

sinα cosα 0

0 0 1

⎤
⎥
⎦

F (α)F (β) = F (α + β)

14. If , then show

that .

Watch Video Solution

F (θ) =
⎡
⎢
⎣

cos θ −sin θ 0

sin θ cos θ 0

0 0 1

⎤
⎥
⎦

F (θ)F (ϕ) = F (θ + ϕ)

https://dl.doubtnut.com/l/_DiACGQRZvwqe
https://dl.doubtnut.com/l/_jCdIOBtewAc6


15. Find a  order matrix B such that 

Watch Video Solution

2 × 2

[
2 5

−3 7
]B = [

17 −1

47 −13
]

16. Find a  order matrix B such that 

Watch Video Solution

2 × 2

[
2 3

0 1
]B = [

12 11

2 1
]

https://dl.doubtnut.com/l/_bkNlaNGZ3ILn
https://dl.doubtnut.com/l/_iDhmDUMjT1MK


17. Find a  order matrix B such that 

Watch Video Solution

2 × 2

[
6 5

5 6
]B = [

11 0

0 11
]

18. If  , then

find k so that 

Watch Video Solution

A = [
1 0

−1 7
] and I = [

1 0

0 1
]

A2 = 8A + kI

https://dl.doubtnut.com/l/_WGgkNGhdAETm
https://dl.doubtnut.com/l/_38nDtWSQxv1o


19. If A  , then find k

so that 

Watch Video Solution

= [
0 3

−7 5
], I = [

1 0

0 1
]

kA2 = 5A + 21I

20. If ( ), find K such that (

).

Watch Video Solution

A = [
3 −2

4 −2
]

A2 = KA − 2I2

https://dl.doubtnut.com/l/_B5MqcT70fJFE
https://dl.doubtnut.com/l/_nMOfQNT2qw3L


21. Solve the matrix equation :

Watch Video Solution

( 1 x 1 )
⎛
⎜
⎝

1 2 3

4 5 6

3 2 5

⎞
⎟
⎠

⎛
⎜
⎝

1

2

3

⎞
⎟
⎠

= (0)

22. Solve the matrix equation :

Watch Video Solution

( 1 x 1 )
⎛
⎜
⎝

1 2 3

4 5 6

3 2 5

⎞
⎟
⎠

⎛
⎜
⎝

1

−2

3

⎞
⎟
⎠

= (0)

https://dl.doubtnut.com/l/_ylwIKhv6ZPxc
https://dl.doubtnut.com/l/_yqvN7PJmhBxD


23. Solve the matrix equation :

Watch Video Solution

( 1 1 x )
⎛
⎜
⎝

1 0 2

0 2 1

2 1 0

⎞
⎟
⎠

⎛
⎜
⎝

1

1

1

⎞
⎟
⎠

= (0)

24. If A  then find 

Watch Video Solution

=
⎡
⎢
⎣

2 0 1

2 1 3

1 −1 0

⎤
⎥
⎦

A2 − 3A + 2I

https://dl.doubtnut.com/l/_EDPyIgPDU5vD
https://dl.doubtnut.com/l/_xsEs3GY5eUZP


25. If  then find 

.

Watch Video Solution

A =
⎡
⎢
⎣

2 0 1

2 −1 3

1 1 0

⎤
⎥
⎦

A2 − 3A + 2I

26. If  then find .

Watch Video Solution

A =
⎡
⎢
⎣

2 0 1

2 1 3

1 1 0

⎤
⎥
⎦

A2 − 2A + 5I

https://dl.doubtnut.com/l/_x1xYib3VXFhs
https://dl.doubtnut.com/l/_LAdN3EhPsKr5


27. If A=  , then show

that Â 2 −7A+10I3 =0

Watch Video Solution

[3, 2, 0], [1, 4, 0][0, 0, 5]

28. If , then find 

 where I is Identify Matrix.

Watch Video Solution

A = '

⎡
⎢
⎣

1 2 3

3 −2 1

4 2 1

⎤
⎥
⎦

A2 − 23A − 40I

https://dl.doubtnut.com/l/_ICglPTUy9tkk
https://dl.doubtnut.com/l/_2bJWwhu6rlgQ


29. If , find f(A) where 

Watch Video Solution

f(x) = x2 − 5x + 7

A = [
3 1

−1 2
]

30. If  and ,

then find f(A).

Watch Video Solution

A = [
2 1

−1 3
] f(x) = x2 − 4x + 2

https://dl.doubtnut.com/l/_HOM8w1isdfaN
https://dl.doubtnut.com/l/_PjLXoBqt9orf


31. If  and ,

then find f(A).

Watch Video Solution

A = [
1 2

3 −1
] f(x) = x2 − 7x + 10

32. If  and ,

then find f(A).

Watch Video Solution

A = [
2 1

3 −5
] f(x) = x2 − 2x + 3

https://dl.doubtnut.com/l/_2MMeAoj81QLe
https://dl.doubtnut.com/l/_UZW9hCKxBsyB


33. If , then prove by

Mathematical Induction that :

, where 

Watch Video Solution

A = (
3 −4

1 −1
)

An = (
1 + 2n −4n

n 1 − 2n
) n ∈ N

34. Prove the following by principle of

mathematical induction : 

(a) If , then 

 where n is a

positive integer .

A = [
11 −25

4 −9
]

An = [
1 + 10n −25n

4n 1 − 10n
]

https://dl.doubtnut.com/l/_gQtjlAH8KTvv
https://dl.doubtnut.com/l/_OUb6eXuJTTNP


Watch Video Solution

35. If , then prove by

Mathematical Induction that :

, where 

Watch Video Solution

A = (
−1 −4

1 3
)

An = (
1 − 2n −4n

n 1 + 2n
) n ∈ N

36. If , then verify

that (AB)' = B' A'

Watch Video Solution

A = [
2 3

4 5
], B = [

1 2

4 6
]

https://dl.doubtnut.com/l/_OUb6eXuJTTNP
https://dl.doubtnut.com/l/_zmAvNnp3be6t
https://dl.doubtnut.com/l/_I4w61lNG0w7P


37. If  then verify

that (AB)' = B' A'

Watch Video Solution

A = [
3 4

4 5
], B = [

5 3

2 1
]

38. If A  then

verify that (AB)' = B' A'

Watch Video Solution

= [
2 4

3 5
] and B = [

5 4

3 2
]

https://dl.doubtnut.com/l/_bnskaTsEkywo
https://dl.doubtnut.com/l/_zTmSbFyh13IN


39. If A  , then

verify that (AB)' = B'A'

Watch Video Solution

=
⎡
⎢
⎣

−2

4

5

⎤
⎥
⎦

, B = [ 1 3 −6 ]

40. If , verify that 

.

Watch Video Solution

A =
⎡
⎢
⎣

1

5

6

⎤
⎥
⎦

, B = [ 2 1 −5 ]

(AB)' = B'A'

https://dl.doubtnut.com/l/_TpvziY7AtAuE
https://dl.doubtnut.com/l/_noriCSywFnjH


41. If , verify

that .

Watch Video Solution

A =
⎡
⎢
⎣

7

9

−8

⎤
⎥
⎦

, B = [ 2 0 −2 ]

(AB)' = B'A'

42. If , verify that

: (AB)' = B'A'.

Watch Video Solution

A =
⎡
⎢
⎣

3

−1

5

⎤
⎥
⎦

, B = [ − 6, 7, 10]

https://dl.doubtnut.com/l/_8z4aWEjK7vun
https://dl.doubtnut.com/l/_zp5hf3Kn2M7A


43. If , then

verify that (AB)'=B'A' .

Watch Video Solution

A =
⎡
⎢
⎣

4

0

7

⎤
⎥
⎦

, B = [ −1 −6 5 ]

44. If  then verify

that (AB)' : B' A'.

Watch Video Solution

A =
⎡
⎢
⎣

3

−1

4

⎤
⎥
⎦

, B = [7 − 712]

https://dl.doubtnut.com/l/_2BE7q1qlWm9V
https://dl.doubtnut.com/l/_Ngp1NXgxIeAI


45. If , the verify

that (AB)'=B'A' .

Watch Video Solution

A =
⎡
⎢
⎣

3

−4

5

⎤
⎥
⎦

, B = [ 6 1 −1 ]

46. If  then

verify that (AB)'=B'A'.

Watch Video Solution

A =
⎡
⎢
⎣

2

−4

1

⎤
⎥
⎦

, B = [(6)(3)( − 1)]

https://dl.doubtnut.com/l/_IW43wFDAS4b4
https://dl.doubtnut.com/l/_6kFFoTO1Upoo


47. If  then

verify that (AB)'=B'A'.

Watch Video Solution

A =
⎡
⎢
⎣

2

−4

1

⎤
⎥
⎦

, B = [(6)(3)( − 1)]

48. If  then verify

that (AB)' = B'A' .

Watch Video Solution

A =
⎡
⎢
⎣

3

1

2

⎤
⎥
⎦

, B = [ 1 −2 5 ]

https://dl.doubtnut.com/l/_tbk90y92qSHm
https://dl.doubtnut.com/l/_NuYRjqQ71Mlu


49. For the matrix , verify that 


 is a skew symmetric matrix.

Watch Video Solution

A = [
1 5

6 7
]

(A − A' )

50. For the matrix  , verify that : A

+ A' is a Symmetric Matrix

Watch Video Solution

A = (
2 5

4 1
)

https://dl.doubtnut.com/l/_T9OAUwZ14lBa
https://dl.doubtnut.com/l/_0GysEq6YgJ2B


51. For a matrix  , verify that 


A + A' is a symmetric matrix

Watch Video Solution

A = [
6 2

4 5
]

52. Express  as sum of symmetric and

skew-symmetric matrices.

Watch Video Solution

[
2 1

−1 8
]

https://dl.doubtnut.com/l/_NGwq7U7p0MLk
https://dl.doubtnut.com/l/_FtXsCWDSsx6s


53. Express the following matrices as the sum of

a symmetric and a skew symmetric matrix : 

(ii)  


(iii) 

Watch Video Solution

[
5 1

7 0
]

[
2 1

3 0
]

54. Express the following matrices as the sum of

a symmetric and a skew symmetric matrix : 

Watch Video Solution

https://dl.doubtnut.com/l/_bs0ou9tLanmU
https://dl.doubtnut.com/l/_t5uOGMcjrDj9


Example Questions Carrying 6 Marks

1. Express the matrix  as

the sum of a symmetric and skew - symmetric

matrix

Watch Video Solution

A =
⎡
⎢
⎣

−2 3 1

1 3 2

5 −4 5

⎤
⎥
⎦

2. Express the following matrices as the sum of

a symmetric and a skew symmetric matrix : 

A =
⎡
⎢
⎣

2 −2 −4

−1 3 4

1 −2 −3

⎤
⎥
⎦

https://dl.doubtnut.com/l/_QA8ZfsanDAFT
https://dl.doubtnut.com/l/_oReDliPvE3ZI


Watch Video Solution

3. Express the following matrices as the sum of

a symmetric and a skew symmetric
 matrix: :

Watch Video Solution

⎡
⎢
⎣

3 3 −1

−2 −2 1

−4 −5 2

⎤
⎥
⎦

4. Express the following as sum of symmetric

and skew symmetric matrix 

https://dl.doubtnut.com/l/_oReDliPvE3ZI
https://dl.doubtnut.com/l/_1qTtekC53sDN
https://dl.doubtnut.com/l/_dZqlFp7RBrNz


Watch Video Solution

⎡
⎢
⎣

2 4 −6

7 3 5

1 −2 4

⎤
⎥
⎦

5. Express  as a sum of symmetric

and skew-symmetric matrices.

Watch Video Solution

⎡
⎢
⎣

1 3 5

−6 8 3

−4 6 5

⎤
⎥
⎦

https://dl.doubtnut.com/l/_dZqlFp7RBrNz
https://dl.doubtnut.com/l/_33hcy0gQ84XD


6. Express  as a sum of a

symmetric and a skew- symmetric matrix .

Watch Video Solution

⎡
⎢
⎣

2 −4 5

1 8 −2

7 3 9

⎤
⎥
⎦

7. Express  as a sum of a

symmetric and a skew- symmetric matrix .

Watch Video Solution

⎡
⎢
⎣

6 −4 5

1 4 −2

7 5 9

⎤
⎥
⎦

https://dl.doubtnut.com/l/_7gmsc6u2jmSm
https://dl.doubtnut.com/l/_MVREs4hEzEr4


8. Express  as a sum of a

symmetric and a skew- symmetric matrix .

Watch Video Solution

⎡
⎢
⎣

2 7 5

1 8 −2

6 5 9

⎤
⎥
⎦

9. Express the matrix  as

the sum of a symmetric and skew-symmetric

matrix .

Watch Video Solution

A =
⎛
⎜
⎝

−3 5 6

−1 0 1

2 1 2

⎞
⎟
⎠

https://dl.doubtnut.com/l/_hm6X7AEDpvmA
https://dl.doubtnut.com/l/_p1o4Qvxx0X5W
https://dl.doubtnut.com/l/_tzmX2M3WMyuB


10. Express the matrix  as

the sum of a symmetric and skew-symmetric

matrix .

Watch Video Solution

A =
⎛
⎜
⎝

2 1 3

3 −2 1

−1 3 1

⎞
⎟
⎠

11. Express  as the sum of a

symmetric and a skew-symmetric matrix .

Watch Video Solution

⎛
⎜
⎝

1 −2 3

7 0 5

−4 1 9

⎞
⎟
⎠

https://dl.doubtnut.com/l/_tzmX2M3WMyuB
https://dl.doubtnut.com/l/_z1dtG6ggyeE1
https://dl.doubtnut.com/l/_AYMG8fCJe9lw


12. Express  as the sum of a

symmetric and a skew-symmetric matrix .

Watch Video Solution

⎛
⎜
⎝

1 2 3

7 4 5

4 1 9

⎞
⎟
⎠

13. Express  as the sum of a

symmetric and a skew-symmetric matrix .

Watch Video Solution

⎛
⎜
⎝

1 2 −3

7 0 5

−4 8 9

⎞
⎟
⎠

https://dl.doubtnut.com/l/_AYMG8fCJe9lw
https://dl.doubtnut.com/l/_JKkG5HdpwRgL


14. Express  as a sum of

symmetric and skew-symmetric matrices.

Watch Video Solution

⎡
⎢
⎣

2 5 −1

3 1 5

7 6 9

⎤
⎥
⎦

15. Express the matrix  as a sum

of symmetric and skew symmetric matrix

Watch Video Solution

⎡
⎢
⎣

5 1 −1

2 −3 4

7 1 −3

⎤
⎥
⎦

https://dl.doubtnut.com/l/_7UO8wBU8HyVg
https://dl.doubtnut.com/l/_NqNOPfhQbQxr


Questions Carrying 1 Mark Type I Multiple Choice

Questions

1. If , find 'x'

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[
x + y 1

2y 5
] = [

7 1

4 5
]

6

4

5

2

https://dl.doubtnut.com/l/_JEAgCgyyBfe4


2. If , then x equals :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[
2x − y 5

3 y
] = [

6 5

3 −2
]

3

6

−2

2

https://dl.doubtnut.com/l/_JEAgCgyyBfe4
https://dl.doubtnut.com/l/_EUr6o3BKSZ4c


3. The matrix  is equal to:

A. a unit matrix

B. a diagonal matrix

C. a scalar matrix

D. none of these .

Answer: D

Watch Video Solution

A = [
1 2

0 1
]

https://dl.doubtnut.com/l/_dtZSENtBDIp6


4. The matrix  is equal to:

A. a unit matrix

B. a diagonal matrix

C. a scalar matrix

D. none of these .

Answer: D

Watch Video Solution

A = [
1 3

0 1
]

https://dl.doubtnut.com/l/_Dwkwf6Mgj46k


5. The number of all possible matrices of order

 with each entry 0 or 1 is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3 × 3

27

18

81

512

https://dl.doubtnut.com/l/_7qfdm5cbWP4i


6. The number of all possible matrices of order

 with each element 0 or 2 is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3 × 3

27

18

81

512

https://dl.doubtnut.com/l/_LcVlkxLuOUwi


7. If matrix A is of order , then each row of

matrix A contains elements :

A. 

B. 

C. 

D. none of these .

Answer: C

Watch Video Solution

4 × 3

12

4

3

https://dl.doubtnut.com/l/_YzdyV47EIIb8


8. If , where A and B are matrices of

order , then order of C is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A + B = C

2 × 3

3 × 2

2 × 3

2 × 2

3 × 3

https://dl.doubtnut.com/l/_hXaqujQzS4ve


9. If A + B = C, where A and B are matrices of

order , then order of C is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3 × 5

3 × 5

3 × 3

5 × 5

5 × 3

https://dl.doubtnut.com/l/_nBQPuRu2jbnZ


10. If  where B and A are matrices of

order  then the order of matrix C is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A + B = C

5 × 5

3 × 5

3 × 3

5 × 5

5 × 3

https://dl.doubtnut.com/l/_R6jpkENVYDvT


11. If  and  then X +

Y equal to :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

X = [
2 0

0 4
] Y = [

−2 0

−2 0
]

[
0 0

−2 0
]

[
0 0

0 4
]

[
0 0

−2 4
]

[
2 0

−2 4
]

https://dl.doubtnut.com/l/_njlmwTvJBROI


12. If A is matrix of a order  and B is a

matrix of order , then AB is a matrix of

order:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2 × 3

3 × 2

2 × 3

3 × 2

2 × 2

3 × 3

https://dl.doubtnut.com/l/_JT7oAN12AgUx


13. If A is matrix of a order  and B is a

matrix of order , then AB is a matrix of

order:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2 × 3

3 × 2

2 × 3

3 × 2

2 × 2

3 × 3

https://dl.doubtnut.com/l/_Dad3bddyTkI5


14. If AB = C, where B and C are matrices of order

, then order of A is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3 × 5

3 × 3

3 × 5

5 × 5

5 × 3

https://dl.doubtnut.com/l/_qfo9uk66DtC2


15. AB = C, where B and C are matrices of order

, then order of A is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3 × 4

4 × 4

3 × 4

4 × 3

3 × 3

https://dl.doubtnut.com/l/_jvpUO8qLnIn9


16. If AB = C, where B and C are matrices of order

, then the order of matrix A is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4 × 5

4 × 5

4 × 4

5 × 5

5 × 4

https://dl.doubtnut.com/l/_z4Pm4ZVjG5mZ


17. If  where Band C are matrices of

orders  then order of A is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

AB = C

5 × 3

5 × 5

3 × 3

3 × 5

5 × 3

https://dl.doubtnut.com/l/_FJKCFXL0hUFj


18. If , then AB

equals

A. 

B. 

C. 

D. None of these .

Answer: D

Watch Video Solution

A = [ 1 2 3 ], B =
⎡
⎢
⎣

2

3

1

⎤
⎥
⎦

( 2 6 3 )

⎛
⎜
⎝

2

6

3

⎞
⎟
⎠

(12)

https://dl.doubtnut.com/l/_eYxvWIXDrnma


19. If  then AB equals

A. 

B. 

C. 

D. None of these .

Answer: C

Watch Video Solution

A = [ 2 1 3 ], B =
⎡
⎢
⎣

3

2

1

⎤
⎥
⎦

( 6 2 3 )

⎛
⎜
⎝

6

2

3

⎞
⎟
⎠

(11)

https://dl.doubtnut.com/l/_VSrG9IElgQcL
https://dl.doubtnut.com/l/_bw8GP3AyBK9J


20. If  is such that , then

a. 1
+
 


b. 1
−
 


c. 1
−
 


d. 1
+


A. 

B. 

C. 

D. 

Answer: C

A = [
α β

γ −α
] A2 = I

α2 + βγ = 0

α2 + βγ = 0

α2 − βγ = 0

α2 − βγ = 0

1 + α2 + βγ = 0

1 − α2 + βγ = 0

1 − α2 − βγ = 0

1 + α2 − βγ = 0

https://dl.doubtnut.com/l/_bw8GP3AyBK9J


Watch Video Solution

21. Assume X, Y, Z, W and P are matrices of order

respectively. The restriction on n, k and p so

that PY + WY will be defined are:

A. 

B. k is arbitrary, 

C. p is arbitrary, 

D. 

2 × n, 3 × k, 2 × p, n × 3 and p × k

k = 3, p = n

p = 2

k = 3

k = 2, p = 3

https://dl.doubtnut.com/l/_bw8GP3AyBK9J
https://dl.doubtnut.com/l/_cXirTScma2Ag


Answer: A

Watch Video Solution

22. The matrix  is a (a) identity

matrix (b) Diagonal matrix (c) symmetric matrix

(d) skew symmetric matrix

A. a unit matrix

B. a diagonal matrix

C. a symmetric matrix

D. a skew-symmetric matrix

A = [
0 −1

1 0
]

https://dl.doubtnut.com/l/_cXirTScma2Ag
https://dl.doubtnut.com/l/_R3OlhB6YmRLe


Answer: C

Watch Video Solution

23. The matrix  is a (a) identity

matrix (b) Diagonal matrix (c) symmetric matrix

(d) skew symmetric matrix

A. a unit matrix

B. a diagonal matrix

C. a symmetric matrix

D. a skew-symmetric matrix

A = [
0 −1

1 0
]

https://dl.doubtnut.com/l/_R3OlhB6YmRLe
https://dl.doubtnut.com/l/_FazIhQAva1rS


Answer: D

Watch Video Solution

24. If A is any square matrix then A + A' is a :

A. skew-symmetric matrix

B. symmetric matrix

C. null matrix

D. identity matrix

Answer: A

https://dl.doubtnut.com/l/_FazIhQAva1rS
https://dl.doubtnut.com/l/_aHR0StulH7uc


Watch Video Solution

25. If A, B are symmetric matrices of same order,

then AB - BA is a :

A. Skew symmetric matrix

B. symmetric matrix

C. Zero matrix

D. identity matrix

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_aHR0StulH7uc
https://dl.doubtnut.com/l/_iEdwQL3paP1q


26. If A is a matrix of order  and B is a

matrix of order , then the order of matrix 

 is equal to :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5 × 2

2 × 5

(BA)T

2 × 2

2 × 5

3 × 3

5 × 5

https://dl.doubtnut.com/l/_iEdwQL3paP1q
https://dl.doubtnut.com/l/_tERpRs0OXTdE


27. If A is a matrix of order  and B is a

matrix of order , then the order of matrix 

 is equal to :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3 × 2

2 × 3

(BA)T

2 × 2

2 × 3

4 × 3

3 × 3

https://dl.doubtnut.com/l/_tERpRs0OXTdE
https://dl.doubtnut.com/l/_rQwGyQZZ6iul


28. If order of matrix A is  and order of

matrix B is , then order of matrix B 'A' is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 × 3

3 × 5

5 × 2

2 × 5

5 × 3

3 × 2

https://dl.doubtnut.com/l/_rQwGyQZZ6iul
https://dl.doubtnut.com/l/_S4J9edkMOABh


29. If order of matrix A is  and order of

matrix B is , then order of matrix B 'A ' is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4 × 3

3 × 5

5 × 2

4 × 5

5 × 4

3 × 2

https://dl.doubtnut.com/l/_ivBr18tciHj6


30. If the matrix A is both symmetric and skew

symmetric, then :

A. A is a diagonal matrix

B. A is zero matrix

C. A is a square matrix

D. None of these .

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_K1UGNBA0wNIC


31. If , then AA' is equal to :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = [[123]]

( 1 4 9 )

⎛
⎜
⎝

1

4

9

⎞
⎟
⎠

(14)

(6)

https://dl.doubtnut.com/l/_hOmothc0y3dv


32. Choose the correct option in the question : 

If  then A A' is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = ( 3 2 1 )

( 4 1 9 )

⎛
⎜
⎝

4

1

9

⎞
⎟
⎠

(14)

(6)

https://dl.doubtnut.com/l/_BD1uiGVQLI5R
https://dl.doubtnut.com/l/_cjqqWRng3rOp


33. If A and B are two invertible matrices, then

the inverse of AB is equal to :

A. AB

B. BA

C. 

D. 

Answer: D

Watch Video Solution

A− 1B− 1

B− 1A− 1

https://dl.doubtnut.com/l/_cjqqWRng3rOp


34. If A and B are square matrices of the same

order, then  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(A + B)(A − B)

A2 − B2

A2 − BA − AB2 − B2

A2 − B2 + BA − AB

A2 − BA + B2 + AB

https://dl.doubtnut.com/l/_jBUmqCFu6VTa


35. If  and 

, then

A. Only AB is defined

B. Only BA is defined

C. AB and BA both are defined

D. AB and BA both are not defined

Answer: C

Watch Video Solution

A = [
2 −1 3

−4 5 1
] B =

⎡
⎢
⎣

2 3

4 −2

1 5

⎤
⎥
⎦

https://dl.doubtnut.com/l/_gDRVnpImJKPC
https://dl.doubtnut.com/l/_QuqT9oR6CMPT


36. The matrix  is a scalar matrix.

State true or false. If false, then what type of

matrix is this?

A. scalar matrix

B. diagonal matrix

C. unit matrix

D. square matrix

Answer: D

Watch Video Solution

⎡
⎢
⎣

0 0 5

0 5 0

5 0 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_QuqT9oR6CMPT


37. If A and B are symmetric matrices of same

order then  is a :

A. Skew symmetric matrix

B. Null matrix

C. Symmetric matrix

D. None of these .

Answer: A

Watch Video Solution

AB − BA

https://dl.doubtnut.com/l/_FAHlVUgRxeQ0


38. The matrix  is a

A. square matrix

B. diagonal matrix

C. unit matrix

D. None

Answer: A

Watch Video Solution

P =
⎡
⎢
⎣

0 0 4

0 4 0

4 0 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_omLpoo44DKPc


39. The number of all possible matrices of order

 with each element 0 or 2 is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3 × 3

9

27

81

512

https://dl.doubtnut.com/l/_Wr1o5cz4hXQu


40. If  then

the value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[
2x + y 4x

5x − 7 4x
] = [

7 7y − 13

y x + 6
]

x + y

x = 3, y = 1

x = 2, y = 3

x = 2, y = 4

x = 3, y = 3

https://dl.doubtnut.com/l/_qc8O0gKX83ee


41. If matrix , where 

 then  is equal to

A. I

B. O

C.  I

D.  I

Answer: D

Watch Video Solution

A = [aij]2 × 2

aij
= 1 if i ≠ j

= 0 if i = j
A2

2

1

2

https://dl.doubtnut.com/l/_HZiW4C4NSqkY


42. If A and B are two matrices of the order

 and  , respectively , and m=n, then

the order of matrix  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3 × m 3 × n

(5A − 2B)

m × 3

3 × 3

m × n

3 × n

https://dl.doubtnut.com/l/_84YlBB3QFNj5


43. If  then  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A = [
0 1

1 0
] A2

[
0 1

1 0
]

[
1 0

1 0
]

[
0 1

0 1
]

[
1 0

0 1
]

https://dl.doubtnut.com/l/_oLhtkdQL50iv


44. If matrix , where 

 then  is equal to

A. I

B. A

C. O

D. None of these .

Answer: A

Watch Video Solution

A = [aij]2 × 2

aij
= 1 if i ≠ j

= 0 if i = j
A2

https://dl.doubtnut.com/l/_tv4BjyQAoA3B


45. The matrix  is a

A. identity matrix

B. symmetric matrix

C. skew symmetric matrix

D. none of these .

Answer: B

Watch Video Solution

⎡
⎢
⎣

1 0 0

0 2 0

0 0 4

⎤
⎥
⎦

https://dl.doubtnut.com/l/_z8mK8cGR6hHF


46. The matrix  is a

A. diagonal matrix

B. symmetric

C. skew symmetric matrix

D. scalar matrix

Answer: C

Watch Video Solution

⎡
⎢
⎣

0 −5 8

5 0 12

−8 −12 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_CGQHDVADypAB


47. If A is a matrix of order  and B is a

matix such that AB' and B'A are both defined,

then order of matrix B is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

m × n

m × m

n × n

n × m

m × n

https://dl.doubtnut.com/l/_6LsROv8LhzN3


48. If A and B are symmetric matrices of same

order then  is a :

A. Skew symmetric matrix

B. Null matrix

C. Symmetric matrix

D. unit matrix

Answer: A

Watch Video Solution

AB − BA

https://dl.doubtnut.com/l/_qn1voAtL4lMD


49. If A is square matrix suct that , then 

 A is equal to

A. A

B. I-A

C. I+A

D.  A

Answer: A

Watch Video Solution

A2 = I

(A − I)3 + (A + I)3 − 7

3

https://dl.doubtnut.com/l/_m9PP59CMr7rn


50. For any two matrices A and B, we have

A. AB=BA

B. 

C. AB=

D. None of the above

Answer: D

Watch Video Solution

AB ≠ BA

0

https://dl.doubtnut.com/l/_M4JcHOdoJ0Wf


Questions Carrying 1 Mark Type Ii Fill In The Blanks

Questions

1.  is a square matrix, if 


a. m
<
n

b. m
>
n

c. m
=
n

d. none of these

Watch Video Solution

A = [aij]m×n

https://dl.doubtnut.com/l/_8q0FUxmzvjQy


2. The number of all possible matrices of order

 with each entry 0 or 3 is

Watch Video Solution

3 × 3

3. If A is a matrix of order , then each

column of matrix A contains elements :

Watch Video Solution

3 × 4

https://dl.doubtnut.com/l/_ZOSzu5m5NEad
https://dl.doubtnut.com/l/_Blaus6ScMACf


4. If A+B=C where A and B are matrices of order

 then order of C is ……… 


(ii) If A+B=C where B and A are matrices of order

 then the order of matrix C is ……

Watch Video Solution

4 × 6

3 × 3

5. X, Z are matrices of order 

respectively. 

If n = p, then the order of the matrix 7X - 5Z is :

Watch Video Solution

2 × n, 2 × p

https://dl.doubtnut.com/l/_37A8gXVzQUOl
https://dl.doubtnut.com/l/_zxjlP6sOnxP4


6. If A is a matrix of order  and B is a

matrix of order , find the order of the

matrix (AB).

Watch Video Solution

3 × 4

4 × 3

7. If AB = C, where B and C are matrices of order

, then order of A is :

Watch Video Solution

2 × 4

https://dl.doubtnut.com/l/_nRDQl3NQwZpt
https://dl.doubtnut.com/l/_01hxCwgTOuSN


8. If  , then AB

equals

Watch Video Solution

A = [ 2 3 1 ], B =
⎡
⎢
⎣

3

1

2

⎤
⎥
⎦

9. If A is square matrix such that , then 

 is equal to 


a. A

b. I
−
A

c. I

d. 3A

A2 = A

(I + A)3 − 7A

https://dl.doubtnut.com/l/_hJROD9nksjqI
https://dl.doubtnut.com/l/_Hm9AEPEjoRUc


Watch Video Solution

10. The matrix  is ……

Watch Video Solution

A = (
0 1

−1 0
)

11. If A and B are symmetric matrices of same

order then  is a :

Watch Video Solution

AB + BA

https://dl.doubtnut.com/l/_Hm9AEPEjoRUc
https://dl.doubtnut.com/l/_6Wgd0IEoLIvC
https://dl.doubtnut.com/l/_K5vMnRz6SJ2H


12. If A is a matrix of order  and B is a

matrix of order , then the order of matrix 

 is equal to :

Watch Video Solution

3 × 4

4 × 3

(BA)T

13. If order of matrix A is  and order of

matrix B is , then order of matrix B 'A ' is :

Watch Video Solution

3 × 3

3 × 5

https://dl.doubtnut.com/l/_OFNakJmQJNay
https://dl.doubtnut.com/l/_LBhW98EpgcPR


14. If  then A+A'=I, if the

value of  is ……

Watch Video Solution

A = [
cosα −sinα

sinα cosα
]

α

15. Choose the correct option in the question : 

If  then A A' is equal to

Watch Video Solution

A = ( 3 2 1 )

https://dl.doubtnut.com/l/_LfuO0RQtdSua
https://dl.doubtnut.com/l/_US6gjwaUD6j3


16. Matrices A and B will be inverse of each

other only if

Watch Video Solution

17. If A and B are two skew symmetric matrices

of same order, then AB is symmetric matrix if

……..

Watch Video Solution

https://dl.doubtnut.com/l/_qGuEej7rivVw
https://dl.doubtnut.com/l/_w6fauUC5PV8m


18. If A and B are matrices of same order, then

 is equal to ……

Watch Video Solution

(3A − 2B)

19. Addition of matrices is defined if order of the

matrices is ……

Watch Video Solution

https://dl.doubtnut.com/l/_fGLNzPu42aTS
https://dl.doubtnut.com/l/_HuL8nwnmyaaU


20. …….. Matrix is both symmetric and skew

symmetric matrix .

Watch Video Solution

21. Sum of two skew symmetric matrices is

always ……… matrix .

Watch Video Solution

https://dl.doubtnut.com/l/_kxKPR6ggIOSG
https://dl.doubtnut.com/l/_OHFMMhHFpYT4


22. The negative of a matrix is obtained by

multiplying it by …….

Watch Video Solution

23. The product of any matrix by the scalar …….

Is the null matrix .

Watch Video Solution

https://dl.doubtnut.com/l/_W1O0rKjks6Hs
https://dl.doubtnut.com/l/_cQ23syYYljQc


24. A matrix which is not a square matrix is

called a …. Matrix .

Watch Video Solution

25. Matrix multiplication is ……… over addition .

Watch Video Solution

26. If A is a symmetric matrix , then  is a ……

matrix .

A3

https://dl.doubtnut.com/l/_js3wBOLqr8Ix
https://dl.doubtnut.com/l/_wfOwqKIwF1N1
https://dl.doubtnut.com/l/_39lBFEnG64Fh


Watch Video Solution

27. If A is a skew symmetric matrix, then  is a

……

Watch Video Solution

A2

28. If A and B are square matrices of the same

order, then 

(i) (AB)= ……. 

(ii) (kA) = …….. 

(iii) [k(A-B)] = ……..

https://dl.doubtnut.com/l/_39lBFEnG64Fh
https://dl.doubtnut.com/l/_Xwgs9iefqu6N
https://dl.doubtnut.com/l/_84cVWcyTnwlZ


Watch Video Solution

29. If A is skew symmetric , then kA is a …….

Watch Video Solution

30. If A and B are symmetric matrices, then 

(i) AB-BA is a ……… . 

(ii) BA-2 BA is a ………. .

Watch Video Solution

https://dl.doubtnut.com/l/_84cVWcyTnwlZ
https://dl.doubtnut.com/l/_eO76ZfF6aZxB
https://dl.doubtnut.com/l/_t33bCP97hwLn
https://dl.doubtnut.com/l/_uTL3kk5aDOtA


Questions Carrying 1 Mark Type Iii True Or False

Questions

31. If A is symmetric matrix, then B' AB is …….. .

Watch Video Solution

32. If A and B are symmetric matrices of the

same order, then show that AB
 is symmetric if

and only if A and B commute, that is AB = BA.

Watch Video Solution

https://dl.doubtnut.com/l/_uTL3kk5aDOtA
https://dl.doubtnut.com/l/_aWswuFMzY8zW
https://dl.doubtnut.com/l/_zBY3Wsp0OOvj


1. If two matrices A and B are of the same order,

then  .

Watch Video Solution

2A + B = B + 2A

2. Matrix subtraction is associative

Watch Video Solution

3. For the non singular matrix

Watch Video Solution

A, (adjA) − 1 = (adjA− 1)

https://dl.doubtnut.com/l/_zBY3Wsp0OOvj
https://dl.doubtnut.com/l/_hh9BMS9C5lTu
https://dl.doubtnut.com/l/_NGHLOJR241cJ


4.  for any three matrices

of same order .

Watch Video Solution

AB = AC ⇒ B = C

5. A matrix denotes a number

Watch Video Solution

6. Matrices of any order can be added .

https://dl.doubtnut.com/l/_NGHLOJR241cJ
https://dl.doubtnut.com/l/_y9D8N6s3Ljix
https://dl.doubtnut.com/l/_24zk604gkeuu
https://dl.doubtnut.com/l/_XsdNuUIYXaJE


Watch Video Solution

7. Two matrices are equal if they have same

number of rows and same number of columns .

Watch Video Solution

8. Matrices of different order can not be

subtracted .

Watch Video Solution

https://dl.doubtnut.com/l/_XsdNuUIYXaJE
https://dl.doubtnut.com/l/_UsZZ7ewrAUPR
https://dl.doubtnut.com/l/_Uu7WaCPpVDuS


9. Matrix addition is associative as well as

commutative .

Watch Video Solution

10. Matrix multiplication is commutative .

Watch Video Solution

11. A square matrix where every element is unity

is called an identity matrix .

https://dl.doubtnut.com/l/_VCTzJ9VmNGdL
https://dl.doubtnut.com/l/_QAVoDJtKx8Ph
https://dl.doubtnut.com/l/_HrFly2qS8O5Y


Watch Video Solution

12. If A and B are two square matrices of the

same order, then A+B=B+A .

Watch Video Solution

13. If A and B are two matrices of the same

order, then A-B=B-A .

Watch Video Solution

https://dl.doubtnut.com/l/_HrFly2qS8O5Y
https://dl.doubtnut.com/l/_SrJRB3F6ywC0
https://dl.doubtnut.com/l/_bqyCcPgnUlSP


14. If matrix AB=O, then A=O or B=O or both A

and B are null matrices .

Watch Video Solution

15. Transpose of a column matrix is a column

matrix .

Watch Video Solution

https://dl.doubtnut.com/l/_NU7jd5EhNX1c
https://dl.doubtnut.com/l/_DfyTjnHoo2UO


16. If A and B are two square matrices of the

same order, then AB=BA .

Watch Video Solution

17. If each of the three matrices of the same

order are symmetric then their sum is a

symmetric matrix .

Watch Video Solution

https://dl.doubtnut.com/l/_49ehWX247vWG
https://dl.doubtnut.com/l/_9Toi11ejiRxa


18. If A and B are two square matrices of the

same order, then AB=BA .

Watch Video Solution

19. If (AB)=B'A' , where A and B are not square

matrices, then number of rows in A is equal to

number of column in B and number of columns

in A is equal to number of rows in B .

Watch Video Solution

https://dl.doubtnut.com/l/_Tf9yzY1REtuV
https://dl.doubtnut.com/l/_i41YAqpIBGHV
https://dl.doubtnut.com/l/_PXn64rofgnrz


20. If A, B and C are square matrices of same

order, then AB=AC always implies that B=C .

Watch Video Solution

21. A A' is always a symmetric matrix for any

matrix A .

Watch Video Solution

https://dl.doubtnut.com/l/_PXn64rofgnrz
https://dl.doubtnut.com/l/_eUdUNjWw2Iwi


22. If  and  ,

then AB and BA are defined and equal .

Watch Video Solution

A = [
2 3 −1

1 4 2
] B =

⎡
⎢
⎣

2 3

4 5

2 1

⎤
⎥
⎦

23. If A is skew symmetric matrix, then  is a

symmetric matrix .

Watch Video Solution

A2

https://dl.doubtnut.com/l/_QVWcIPxn3Rto
https://dl.doubtnut.com/l/_85YnHQBpCHCx


24. , where A and B are

invertible matrices satisfying commutative

property . With respect to multiplication .

Watch Video Solution

(AB) − 1 = A− 1B− 1

25. The number of all possible matrices of order

 with each entry  or  is  .

Watch Video Solution

3 × 3 0 1 27

https://dl.doubtnut.com/l/_rQuFXASgqRYl
https://dl.doubtnut.com/l/_q7Eo19F7q4D3


26. If matrix A is of order , then each row

of matrix A contains elements :

Watch Video Solution

4 × 3

27. If , where A and B are matrices

of order , then order of C is :

Watch Video Solution

A + B = C

2 × 3

https://dl.doubtnut.com/l/_rEnm5FbUGRX5
https://dl.doubtnut.com/l/_cwmPMzkefJS6


28. The solution of matrix equation

 is  .

Watch Video Solution

[ x 1 ][
1 0

−2 0
] = O 5

29. Choose the correct option in the question : 

If  then k

equals

Watch Video Solution

(
1 2

3 4
)(

3 1

2 5
) = (

7 11

k 23
),

https://dl.doubtnut.com/l/_8vGx1M14hpxO
https://dl.doubtnut.com/l/_oXuJfLMmORmS


30. AB=AC implies B=C .

Watch Video Solution

31. If A is matrix of a order  and B is a

matrix of order , then AB is a matrix of

order:

Watch Video Solution

2 × 3

3 × 2

https://dl.doubtnut.com/l/_I63j0Rmdfurb
https://dl.doubtnut.com/l/_MdHUSeFioI6B


32. If AB = C, where B and C are matrices of

order , then order of A is :

Watch Video Solution

3 × 5

33. If A is square matrix such that ,then 

 is equal to:

Watch Video Solution

A2 = A

(I + A)3 − 7A

https://dl.doubtnut.com/l/_vBREcjr9N54p
https://dl.doubtnut.com/l/_RFmdtsIOLCD7


Questions Carrying 2 Marks

34. The necessary and sufficient condition for a

matrix A to be skew symmetric is that A=-A .

Watch Video Solution

1. Find the values of a, b, c and d from the

following equations 

Watch Video Solution

[
a − b 2a + c

2a − b 3c + d
] = [

−1 5

0 13
]

https://dl.doubtnut.com/l/_LNjUkmS1VYDs
https://dl.doubtnut.com/l/_m5xLOCNRoNi5


2. If  write

the value of  b .

Watch Video Solution

[
a + 4 3b

8 −6
] = [

2a + 2 b + 2

8 a − 8b
]

a − 2

3. Find  and y, if

 Also find 

.

Watch Video Solution

x

2[
1 3

0 x
] + [

y 0

1 2
] = [

5 6

1 8
] x + y

https://dl.doubtnut.com/l/_m5xLOCNRoNi5
https://dl.doubtnut.com/l/_DDINoPmBtG0X
https://dl.doubtnut.com/l/_1DfroPo4pXPn


4. If A is square matrix such that  , then

write the value of  , where I is an

identity matrix .

Watch Video Solution

A2 = A

7A − (I + A)3

5. Let

Find a matrix D such that
CD – AB = O.

Watch Video Solution

A = [
2 −1

3 4
], B = [

5 2

7 4
], C = [

2 5

3 8
]

https://dl.doubtnut.com/l/_b7livkGo6mOt
https://dl.doubtnut.com/l/_CrbxNiJhRw97
https://dl.doubtnut.com/l/_mcQJwQRQqbs8


Questions Carrying 6 Marks

6. If  find  and

find a matrix  such that 

Watch Video Solution

A =
⎡
⎢
⎣

2 0 1

2 1 3

1 −1 0

⎤
⎥
⎦

A2 − 5A + 4I

X

A2 − 5A + 4I + X = O

1. If  ,

find AB Also solve

A =
⎡
⎢
⎣

1 −2 0

2 1 3

0 −2 1

⎤
⎥
⎦

, B =
⎡
⎢
⎣

7 2 −6

−2 1 −3

−4 2 5

⎤
⎥
⎦

x − 2y = 10, 2x + y + 3z = 8, − 2y + z = 7

https://dl.doubtnut.com/l/_mcQJwQRQqbs8
https://dl.doubtnut.com/l/_taH2YXVHCrJr


Watch Video Solution

2. Given that

Find AB . Use this to solve the following system

of linear equations : 

.

Watch Video Solution

A =
⎡
⎢
⎣

−4 4 4

−7 1 3

5 −3 −1

⎤
⎥
⎦

, andB =
⎡
⎢
⎣

1 −1 1

1 −2 −2

2 1 3

⎤
⎥
⎦

x − y + z = 4, x − 2y − 2z = 9, 2x + y + 3z = 1

https://dl.doubtnut.com/l/_taH2YXVHCrJr
https://dl.doubtnut.com/l/_aRnY2zCGTSca


3. Express the matrix A as the sum of a

symmetric and skew-symmetric matrix, where :

Watch Video Solution

A =
⎡
⎢
⎣

3 −1 0

2 0 3

1 −1 2

⎤
⎥
⎦

4. if  is a matrix satisfying 

 find the value of 

Watch Video Solution

A =
⎡
⎢
⎣

1 2 3

2 1 −1

a 2 b

⎤
⎥
⎦

AA' = 9l3 , |a| + |b|.

https://dl.doubtnut.com/l/_k77wGM7cu9ET
https://dl.doubtnut.com/l/_1f0BKIqUMN2b



